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Solving Logarithmic Equations

Solve each equation.

1.

3.

4.

5.

6.

7.

8.

9.

log(3x + 1)  =  3

log12(7x – 6)  =  log12(4x + 9)

log(x + 2)  – log(x)  =  2

log3(x – 4)  +  log39  =  6 

log7x = log627 + log68

(log4040)9 + (log401)10 =  x – 1

logX16 + logX32 – logX2  =  2

=  log7(x)
log42 + log432

log224 – log23

2. log5(x – 1)  =  4

Get the latest in math and test prep with books, worksheets and more!
https://www.mathonthefly.com



1. x = 333 2. x = 626

3. x = 5 4.

5. x = 85 6. x = 343

7. x = 16 8. x = 2

9. x = 7

SOLUTIONS
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